D What is the source of energy in most ccosystems? My S

2} Why are plants called producers? by o5 ¢ h 4 Qo (Bkt«c,Q 4lerr OwWn 'po ) o\

Use the diagran: to answer questions: 3-0

\
Grass Grasshopper Fish Hawk
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) Wlich organism is a producer? C](QS 5

5 Which organisin is a primary consumer? %((,\QSLLO ppef
% Which organism is a higher level consuiner? N ook

7) Where do primary consumers get their energy from? P\CJ"\—S

8) The correct order ol a tood chain is: start with _ Jthena__  andendwith __

Produce ¢, Princry  Consmme”, hgwe ¢ level Consumaec.

Use the diagraun to answer questions: 9-12
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9 What does this diagrim show?
(:0051 Wi
10} Which organism is a producer?
g R
1 1) Which organisin is a Primary Consumer?
C v e
12) Which organism is a tertiary (higher level) consumer?

g NS

13) Sunfish depend mostly on plankton lor [ood. How MIGHT an ccosystem change il the population of

shinkton increased? .
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Use the diagram (o answer questions: 14-17
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1 ) What is the place of the mouse i this terrestrial tood web?
a) The mouse is caten by the Golkden Crown Kinglet and Snakes
@"I‘Ilc mouse ¢ats acorns and is caten by snakes and Red-tailed hawks
¢) The mouse cats acorns and snakes

d) The mouse cats salunanders and is caten by snakes



15) What is the place of the Pine borer in this terrestvial food web?
@'I‘hc Pine borer cats pines and is caten by salamanders and decomposers
Iy) The Pine borer eats the Golden Crown Kinglet amud salamanders
¢) The Pine bover is caten by snakes and cats pines
d) The Pine borer eats mice and pines
16} What is the role of decomposers in this terrestrial ecosystem?
Ahey Qrov.d plenbs Lot nuwbrends
17) If all of the salamanders were removed from this food web, which population will likely decrease first?
a)/Snakes I} Golden Crowned Kinglet ¢ Pine borer  d) Red-tauled Hawk
18) What happens (o encergy as you move up each level in a lood chain?
a) The energy increases with cach step up in the food chain
1) The energy increases with consumers and decreases with producers
¢) The energy stays the sane at cach level
(@ The energy is tost with cach additional level in a food chain,
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20. What is the chemical equation lor photosynthesis?  (, C O, + oY, 0 — Co M2 O, + €O,

91, Where is photosynthesis occurring in the leal? {Give detailed inlormation) \ws dxo HAle chlosop lest '
Ahg Q\,\\cn’o?\n\“\ _

92, The energy transformation ocawnring in photosynthesis is __ V- cdie~t  energyto_chemnical

cnergy.

23, The energy that powers photosynthesis comes lrom__ Somnlig by

21. What components (Reactants) are consumed in the process of photosynthesis? - CCGvloe o Aoy vde )
WILKE <, Sunlisht | (Wlovophy i

95. \What components {Products) are produced in the process of photosynthesis? glecose + 0Xygen

26. Explain the dillerepce between a lood chain and afood web. G Cocdd wel aveg onwidigle
wwXev o chtd fecd clhiaing

27. cellular respiration- 0o (09 \a ceus oy ik e*vqen s € he mitarty  Comndoings
vl b 00\ mMmolecles andl eneisy 15 felfaSccl

98. What is the chemical equation for cellular respiration and where does it ocour?
CotlinOc + (b0, — LCO; + G0 ¥+ ATE, Mikochendrig

29. Law ol Conservation of Matter- S \
Sletes el oty Con nevhes be (veeted  vor d(SHU1(JI 1y Can O ‘3

30, Stomalta- Chenge €ocrx,
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32, What pereent of energy will be passed on at eacl level? _1Y__ 96

38. Biomass-
tobal mass o€ lving  erqenisms a6 @ v~ QXeq



3t As the material in a compost bin decomposes the organic matter-

a. remains unchanged @is broken down into useful compounds

b. will degrade into toxic material d. eventually is completely destroved
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35. What energy translormation oceurs as biomass decays in a compost bin? Chewiced TG % Eve gy
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36. why are decomposers important in the cycling ol matter? < Lreav clowon deedh Y&
Pading nutrients bece nto e S0\

37. Why is composting important?
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